168 + 96t + 3. \

Exam . the function A(?) =

Thﬂhglgit#:infeetofabasebaﬂtsewndsaﬁeritishltcanbemodelede 46

. Find the maximum height of the baseball. | /7 s Ay S .
e 2o~ 2(-16) _

ﬂ’)ﬂ)(f’fij bf-’/}’t gécrs ;;-;;("MH/I‘T ;?6" f:‘”“ - /6/7_.—#_% _/
affer 3 Secwds o pr57) #9603 73
b. How long does the ball take to hit the ground?

_fCedH T6L *570

e L= -9LT e n3)

b= 96 ) - 2
W ] Sy
C. - LTS —0., 0D [ ALt ¥
Additional Practice £ = Méfaf = , 5 ., ]
-7z (6. 03 Secsels

1. The quadratic function that approximates the height of a javel hlt)=—0.081" +4.48 , where 1 is
the time in seconds after it is thrown and 4 is the javelin’s height in feet. How long will it take for the
javelin to hit the ground? 2

_D.0ft "+l =O
2
...{;_594‘75' B 4‘7‘f .

L= 56

/Z; 7.4 wz@ |

2. a. Marilyn hit a golf ball on the ground with her driver. Use the general function for a projectile to write a
function that shows the height in feet of her golf ball as a function of time. The ball was hit with an initial

vertical velocity of 100 feet per second.

h(E) = 165 +l00t

b.How long will Marilyn’s golf ball stay in the air?
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FResw er the s : .
; ?i:m;f g :Oﬂ;’kﬂom ‘:';l.;?:tg; lsb:ver’ you discover that the math department has changed textbooks so the
-"-'-‘-’r‘ You go to the mof}r £ ki your nearly new book. You and your friend Frank decide to get creative.
'}; 57 below. You dro of a twelve-story building and look over the edge to the reflecting pool 160 feet
L .? ( so the initial Sidnd bo?k over the edge at the same instant that Frank chucks his book straight dewn
ty ¢ o Vel'h.cal velocity is negative) at 48 feet per second.

aﬂgﬁﬂzf?ﬁ:‘fﬁl&&ﬁ“m form for your book’s hg_ight in feet in terms of the time 7 1n seconds

W)=~/ L 160 /\/j_____%

__---'--F

b. Write a function fin standard form fi i ) i f
or the height of Frank’s book in terms O th
after the book is “chucked”.

L(L)= ~16d* — 4L #1©°

c. By how many seconds does his book beat yours into the water? Show yo
answer. —

[t 1400

e time f in seconds

ur work to justify your

/-_-.-'f—’.ér&";f-- o4

2o 6= O
fhE e e bl /ﬁff book. HEAt
r 2 /1) i 23’5{ 52 ”"L) O il é:;
b L - % -)
i i BYEE L il
f/ = k?_ ,lfl_'r.r \_/rf(ls-':."j-j [ =3 i 2_
£ RAN - SCCon AS

ME
@ 4. The height h(r) measured in feet of an object dropped by an astronaut on the moon can be
approximated by h(r)=hy —2.7t%, where hq is the height from which the object was dropped. About

how long would it take an object to fall to the surface of the moon (# = 0) if it were dropped by an

astronaut from a height of 6 feet?
(-2.7¢% =0
-2, T 2= 6 N
L7 7.2 £ /77 enila

5. The height / in feet of a baseball 7 seconds after it is hit can be modeled by the function
h(f) = -167 + 80t + 2.

a. Find the maximum height of the baseball. —~F0 - 5_" % (‘26 ) i
Blfpl] T TS g,
[ 02 2
b. How long does the ball take to hit the ground? ' /§ _)ét: /
b Bl v 22O |
© ” /- JOTIp0>4-16)(2)
T Z2¢/¢)

(= ~PO gzrz

~g2 =d.0 25'*””""/3 '7/ ?7jf,¢1e." L W
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uggler’s hand 4 feet above the ground and has

p}/‘) 6. A juggler tosses a ball into the air. The ball leaves the j ler oatiitei thio: bl when it falls back to a

v an initial vertical velocity of 30 feet per second. The jug ;
Jc ) -
3 height of 3 feet. How long is the ball in the air? —/.{.«ﬂ’é 2,2p) + o/ e

J«(U'«’ "Mf?!..z*" b e 4 TP AT Y/ A O
b R R <202/ (LY oS

—

B 2
zcle) 5 ~0. 02
a. What if the ball leaves the juggler’s hand with an';thal vertical velocity of 40 feet per second?
How long is the ball in the air?

ted RPr ot 292 B L= - 4o JSPBrvran

~llmd ErSo bk F 1T O g
o - g oy R -
Z ’;/cﬁ—-vr,fg,g.y’ o 4; 425 ——
'32—- ((}-F- ,-:?-.c;.?")’;}rf Car o=t _.___)

7. A lacrosse player throws a ball in the air from an initial height of 7 feet. The ball has an initial vertical
velocity of 90 feet per second. Another player catches the ball when it is 3 feet above the ground. How
long is the ball in the air?

W(€)= 1645+ Goe+ T
{,'1064_7':_,?; @

el Bk 8 G H g 0

G0 % (- 1e)(4) - 907 r3sc

/ + |/ g
F= - ‘:’?O _._\/ KO S -

_’,-C,_t 2

- — —

=i (_']H"'“f )//5: 6’7MW¢:L
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